A SLE D)
=

EZH:

Pl A JIBIAIE BHE (EEREE))
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
SRARSELN} 43,016,473 30,679,692 12,336,781
= 958,500
[ 18,017,726
= 24,040,247
JHSU= AL S (s Lb/aHLbt - HE) 42,963,799 30,640,237 12,323,562
= 958,500
= 18,017,726
S 23,987,573
Mt DIEIAIE =E 41,180,249 28,582,787 12,597,462
= 958,500
[ 18,017,726
= 22,204,023
AZOHO A 2= (XIREH) (A 01 AEHZEAL (=12) 52,000 52,000 0
= 26,000
S 26,000
308 XXM SOIA 52,000 52,000 0
= 26,000
== 26,000
18 SIS0t oA AS A 52,000 52,000 0
O AEHZEA 52,000
= 26,000
< 26,000
MEHLHRES(=1) 768,670 547,357 221,313
= 681,100
= 87,570
403 NMXIEHHSA=201E 768,670 547,357 221,313
= 681,100
=S 87,570
01 AR A =2 £ 768,670 547,357 221,313
OdENLAHT ESAt 768,670
= 681,100
< 87,570
AZoloey datd S 311,900 390,100 AT78,200
202 04| 13,200 11,000 2,200
01 2L AL 13,200 11,000 2,200
Oy datd SUAE XI& 13,200
308 AHXIHMS0IA 171,500 361,100 189,600
01 RSN B EES 31,500 161,100 129,600
O==4telo] & J|geAL XA 31,500
18 SIS0t & A AS A 140,000 200,000 60,000
OZEMIAMEAS K& 140,000
403 AXIEHMSA=0ld 127,200 0 127,200
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A BN S e
XM A

Pl A JIBIAIE BHE (EEREE))
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
01 AR A= 2 £ 127,200 0 127,200
Odhmtel J=Tloi o+ K13 30,000
ozatd Yo+ = 25 XN&H 7,200
OA~SHE dFHE AIRE AIEHE 40,000
OEXY07 SZHEE 7Y XS 50,000
HEZF0gne 309,000 440,000 A131,000
403 X SHHMSAH=01H 309,000 440,000 A131,000
01 AR A= 2 & 309,000 440,000 A131,000
OEAHIS0E =& 309,000
THoHF o XIZO1& AIZEHI(HEALY) 16,400,000 3,300,000 13,100,000
401 AIZHIX R0HH 16,400,000 3,300,000 13,100,000
01 A28l 16,360,000 3,293,000 13,067,000
OTHaHF2F Xgog AIZEBI(HE) 16,360,000
03 AIZ20HHI 40,000 7,000 33,000
OTMHoHF 2 XI201e AlIZEHI(HE) 40,000
LU LSS 24,000 185,688 131,688
403 X SHHMSAH=01H 24,000 185,688 131,688
01 AR A =2 £ 24,000 185,688 131,688
OFXIY JtFel AlZHl X1 24,000
& E300(2022) (= 12) 10,846,242 7,968,888 2,877,3%
= 9,610,860
< 1,235,382
403 MR EHSAHE01H 10,846,242 7,968,888 2,877,354
[ 9,610,860
= 1,235,382
01 XM =2 E 10,846,242 7,968,888 2,877,3%4
O01&=E300(2022) 10,846,242
[ 9,610,860
= 1,235,382
dBts MU EINL(22) 3,016,000 1,898,000 1,118,000
= 3,016,000
403 AXIEHHSAH=201H 3,016,000 1,898,000 1,118,000
s 3,016,000
01 MHXIHHA =22 3,016,000 1,898,000 1,118,000
OAlZ2 g2 st 280,000
s 280,000
OASHIANEINE 2,736,000
= 2,736,000
HESSXAEH XJ(21) 225,000 500,000 A275,000
= 112,500
== 112,500
308 AXIMSOIA 225,000 500,000 A275,000
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A SLE D)
=

ME: AW 0/2|E BE(SAHLSA/HLAL - OfF)
Sl MAF JIBFAIE EHE (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 112,500
=S 112,500
18 SIS0t & A AS A 225,000 500,000 A275,000
ONES2AAAHE XS 225,000
= 112,500
< 112,500
HE - O HAAE XI& 37,800 48,000 10,200
308 AHAIEHMSOIE 37,800 48,000 210,200
183 S| 2SO B &HASAIE 37,800 48,000 /10,200
OZBZAY Hef2dst 37,800
HESESH(F1) 1,659,000 1,106,000 553,000
= 1,470,000
= 189,000
403 X SHHMSAH=01H 1,659,000 1,106,000 553,000
= 1,470,000
== 189,000
01 AXISHHA 22 £ 1,659,000 1,106,000 553,000
ONHEZESIXH 1,658,000
= 1,470,000
< 189,000
J0IZA=M(=1) 2,400 0 2,400
= 2,400
308 AXIMSOIA 2,400 0 2,400
= 2,400
01 RSN EES 2,400 0 2,400
OZS0IEHEN 2,400
= 2,400
=MARES HEN(Z22) 16,000 0 16,000
= 16,000
201 fer23y| 16,000 0 16,000
= 16,000
01 At2tlt] 16,000 0 16,000
O==4HRES ZEHM 2HEE 16,000
= 16,000
og == A4 JHE X 72,900 270,000 197,100
403 TtXI M SAH=01H 72,900 270,000 A197,100
01 AR A= 2 £ 72,900 270,000 A197,100
O0g al+=s2AE JHA 72,900
X2og S22 (MEAIY) 2,600,000 0 2,600,000
401 Al HIZ 2018 2,600,000 0 2,600,000
01 Al&H| 2,591,000 0 2,591,000
OXILoE E=EL(ME) 2,591,000
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